
Answers

1)	 Eva and Joe added the same amount of water to the bucket as each added 5l 500ml.

2)	 Eva is correct. The volume of water is between 8l and 8l 500ml which is less than Joe has suggested.

  

 

3)	 Accept children’s own answers. For example, the capacity of the bottle is the same as two cups.
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a)	 100ml

b)	 1l

c)	 350ml

d)	 1l and 350ml

100ml 800ml 300ml 1l and 900ml
500ml

3l         

2750ml

5l 750ml
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0l 600ml 1l 600ml 1l 200ml

3l 200ml2l 400ml

bottle 1l 200ml

bowl 3l 200ml

4 cups 2l 400ml

glass 0l 600ml

pan 1l 600ml
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